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PHILOSOPHY
Course Code : BPHIDSRT-3 & 4 (DSE 3 & 4)

Full Marks : 40

The figures in the right-hand margin indicate marks.

Time : 2 Hours

Candidates are required to give their answers in their
own words as far as practicable.

This question papers contains both DSE 3 & 4.
Students are thereby instructed to answer DSE paper
out of these two (DSE 3 & DSE 4) as he/she opted for.
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Title : Methods of Inductive Logic & Probability
Code : BPHIDSRT3 (DSE 3)
1. Answer any ten of the following: 1x10=10
- weifs aesw Tew mie 2
a) What 1is called the method of double-

agreement?
Tae-SIl| “afe FIP A0 2
b) What is the fallacy of co-existence?

AZREIET (T FCF A 2
[Turn Over]

d)

g)

h)
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What did Mill claims about his methods of

experimental enquiry?
i o srafoufe TS & widt w2

Explain the Multiplication Theorem of
Probability.

AgRyel [T @ @ il 74|

Explain one merit of the method of

Agreement.

SIS orafon @3 wd [ 9|
What is cause?

I e

Explain the most important merit of the

method of Concominant Variation.
AEARRE “afen FAAE (A swgsjd Jf e

What is the limitation of the method of

Difference?
FoR oafeg Aae! (HAT 2
Identify the method.

sl sicesfos Snrgef @i omfe o
FA?




i)

k)

D
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Antecedent Consequent ‘?B/‘if Spefal
A BC a,bc A BC a,bc
ABC a,bc A BC a,bc
ABC a,bc ABC a,bc

What is the probability of getting a king from

the deck of cards in one draw?

G32E O (A G0 O BiFcE oHha AEd
2314 BRTS! 2

What is sufficient cause?
@ WS PIF AT 2

Give an example of Necessary and Sufficient

cause.
Q-SRI =67 @FT Twlzzel i |
What is proximate cause?

OR8] lel BICs T 2

What is unfavourable outcome?

Afepel w1 52

If a coin is thrown one time, what will be the

probability of getting tail of it?

OB JAIF G B FACeT OF (B S TSIl
Ik
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Answer any five of the following: 2x5=10

@I #Hivfe 2miw Tex wie ¢

a)

b)

d)

g)
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Give a real example of method of Agreement

and Difference.
SFH-ITSETH Aafeq @I BT TrIFS 7S |

Give two characteristics of the method of

Difference.

Sferdl ~mfen 45 <Y @ |

What is singularity of cause? Give example.
GEFREAm e Suigsd s |

How do you determine the probability of the

occurence of an event? Explain with example.

(I o1t 9o TS FWefEa (@ et a7z =3,
I (&1 | TR AR [ 4 |

What is favourable outcome? Give example.

S e DI ACE1 2 SUIRY W€ |

How do you determine the probability of the
non-occurence of an event? Explain with
example.

(I o1 KO FERTS! [ (@ 4t a9z
2, GG (514 | CHIRSCAR ARIC W10l |

Give the definition of the method of

Concomitant Variation.
FEAAE olafod FAKeE! e |
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h)  What are the two theories of probability?
AR ALFT Toam yio 5 62
3. Answer any two of the following: 5%x2=10

@G 7o 2w Ted mis ¢

a)

b)

c)

Explain the characteristics of the method of

Concomitant Variation.

Agolfen ommfen @aREef @Y |

Explain the Apriori Theory of Probability.
AT sjFeia ot i 34|

What do you mean by the plurality of cause?

IRV 0o T (@R 2

4.  Answer any one of the following: 10x1=10
- @R A T IS g

a)

b)

712/Phil.

Give the criticisms of Mill's method.
N safoslem ANEDT e |
Explain the method of Residue.

AR ol A1y 91

1)  Define the A posteriori theory of
probability. 2

TGO 2RO ©gHd HLEs| WS |
i1) Determine the probability of the
following: 4x2=8
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fIsfeie ool Terre Fda 3=

1)

2)

What is the probability of getting
a sum of 7 when two dice are

thrown?
W OIMd SAIHI AT CAN9IFeT
q 299 AGKIOl F9?

A card is drawn at random from a

deck of cards. Find the following:
a) Probability of getting queen

of the diamond.
b) Probability of getting one
club.
c) Probability of getting one ace
d) Probability of getting one red

card.

@ s O (AF G0 O W
facet

a) ©OF ¥R R R ASRTSl
FO?

b) o Bt A T8RSl FO?
c) Wi (bFl 29 ASRTO! FO?

d) OF =F A6-97 REAF HSRTe]
FO?
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Title : Nyaya
Code : BPHIDSRT4 (DSE 4)

1. Answer any ten of the following: 1x10=10
Q- Wb elels Ten Wi 3

a)

b)

d)
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Who is the author of Dipika tika?
Aol BRI OOl (e

Which system does the Tarkasar8graha

represent?
SERAT (Pl TR 92

How many pramanas are admitted by
Annambbhatta?

ELSG T AN w2
By which knowledge (jfhna) savikalpaka

jitana can be known?
AREHE WS (Tl W QI Sl R 2

Which sannikarsa is required to perceive
Ghatattva jati?

qogeifod ors Ay 9

What are the different types of ajathartha

anuvava?

sl Sperd [fen avmel & e
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g)

h)

i)

k)

)
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Which hetvabhasas are direct hindrances or

obstacles to inference (anumiti)?

(P (P (RO AFRICEIE SR oo
23?7

Name the three types of Linga.

fomerl feresr I (o149

What are the types of asiddha hetvabhasa?
m (RN aeFef e

In what relation (sambandha) knowledge

(jfana) reside in soul (atma)?
Tl SR (I T A ?

What according to Annambhatta is the karana

of Pratyaksa Prama?

TES(GA WO AT AN 99 {F2

What are the two types of inference

(anumana)?
WP Sl e

What are the five members of Pancavayavi

Nyaya?
A W AT S H Fie

What is anumana?

SN FICE A 2
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0)

2.  Answer any five of the following:

What is Paksha?
I P 12

@~ “Hinfe am Tex wie ¢

a)

b)

c)

d)

g)

h)
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What is known as Vyapara?

AT PICP ACET 2

2x5=10

Why Nirvykalpak Pratyaksa is admitted?

e dors TP T4 T (e 2

What is Paksadharmata?
O P A0 2

What is doubt?

LR PP AT 2

What is memory?

S FICF A2

What is Badhita hetvabhasa?
S (Zgre FICF AT 2
What is Buddhi?

I FICF T2

Define Prama with example.

TYIZFe AZ A wgeEl (el |

[9]
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Answer any two of the following: 5x2=10

@G 75 SsiF T wie 2

Answer any one of the following:

Distinguish between Nirvikalpaka and
Savikalpaka Pratyaksa.

s ¢ Aeas dorwd Wy ALF F4 |

Explain the laksa®a of Buddhi given in
Tarkasadgraha .

TP e I D I 9|

What is aprama according to Annambhatta?

Explain.
SAECSCGE W s [Fe A F1
10x1=10

@~ G0 208 TEF WS ¢

3
a)
b)
c)
4,
a)
b)
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Following Annambhatta explain with
illustration different types of laukika

sannikarsa.

SESG(E SRR Fd [RfenasE @ Ties e
Tnizgel g Il 9

What according to Annambhatta is inference
or anumiti? Is Paramarsa the necessary
condition for anumiti or inference?
SECOTE TS SRS e oA B S
SR *1S 2



c¢)  Whatis vyapti? How vyapti can be established?

Discuss.

% 2 Fo i afed w1 9w 2 e
4|
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